N = 0l & At & Ml A

FA NE= 1

HM: HAHS TASEAXZLH(SHES/HIIZ)
cel: MEAR HIIZ M2 (o9l F g
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
A& =& 76,835,065 61,067,521 15,767,544
= 599,000
Al 76,236,065
HAS TANSIATH(BHEES/HIIZ) 71,485,360 55,566,361 15,918,999
= 599,000
Al 70,886,360
cEEA HIIS Hel 40,727,652 32,848,271 7,879,381
MEHIIZE Heled 16,494,924 14,115,823 2,379,101
201 282 A Y| 50, 198 49,433 765
01 Ar&2te2ldl 32,468 34,855 NP2,387
= 0l & 32,468 34,855 N2,387
OFAHMHE EEZ2 M 20,000,000& 20,000
OUXHEHIII? SHHMEEXNI 220 & &
2| 2,000& *4,000H 8,000
OF& A MYIISHHZE AMAUAE2T 3F 2
A G 70,000 *11H 23] 1,540
OMYIIBHHNSE ST AIAE R X BI
2,928,000& 2,928
02 =294t 17,730 14,578 3,152
= Ol & 17,730 14,578 3,152
OX &= XYl 17,730
— XS XAl 370
S22 EY) 90,000& = 1LH 90
- SEAHEY) 80,000& = 1LH 80
S (AH) 30,000& = 1LH 30
S UE) 170,000& = 1CH 170
—SFNERE S 1,010
SEHEE) 120,000& = 1CH 120
ASIHASEHIIE +=H)
200, 0003 *2CH 400
SIS (AE) 120, 000& = 1CH 120
StEX(UHEY) 370,000 =1CH 370
—28& 3,600
S22 (EEY) 300,000 =1CH 300
-SEIHEY) 400,000 = 1CH 400
SISXH(AHEIIE =H)
600,000 *2CH 1,200
c B SA(AE) 700,000 =1CH 700
- SAH(UE) 1,000,000 = 1CH 1,000




SN

HM: HAHS TASEAXZLH(SHES/HIIZ)
cel: MEAR HIIZ M2 (o9l F g
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
— S 24| 6,750
SEX(EE) 1,850 %904 *1CH=12& 1,998
SSAHEHE) 1,6502%1204 ~1Ux122 2,376
AESIHASEHIIE +=H)
1,650 %604 *2CH*12& 2,376
— =2l | 6,000
SEX(EE) 1,000, 000& *1CH 1,000
SEX(EE) 1,000, 000& *1CH 1,000
SIS AEHIIAE +=H)
2,000,000 *2CH 4,000
206 M Z&H| 1,619,208 1,729,592 A 110,384
01 MZH| 1,619,208 1,729,592 A 110,384
= 0l & 1,619,208 1,729,592 A 110,384
oMYl SHNESE MZ 1,619,208
—adetE 789,047
- 54 34.42% 1,000, 0000H 34,420
104 41.64& x4 ,000,0000H4 166,560
204 60.11& *3,500,0000H 210,385
504 149.73& 1,000, 0000H 149,730
1004 253.28& *900, 000 0H 227,952
— MAFE (202 ) 61.13& *3,500,0000H 213,955
— 2 TH(30L ) 390& =40, 0000H 15,600
—SAMEE 600,606
14 17 .93& *3,500, 0000H 62,755
20 22.93& x10,000,0000H 229,300
- 34 24 .93& *6,000,0000H 149,580
- 54 34.423 *2,200,0000H 75,724
104 41.64& =700, 0000H 29,148
204 60.11& %900, 0000H 54,099
207  HAFRIHEHI 61,000 44,000 17,000
01 HFRS<H| 61,000 44,000 17,000
=&13 ( 61,000) 0) 61,000)
OMEHII= =& - 28 A 840l
H EHled 20,000,000 |( 20,000) 0) 20,000)
OMEHIIZE =& - 28 &y MES8Y
41,000,000€ |( 41,000) 0) 41,000)
301 ot A= 2,000 2,000 0
11 JIEIE A2 2,000 2,000 0
= 0l & 2,000 2,000 0




2M:
I‘liH:
el

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

SN ZH - (3H) - HRAY - BE2 (™) (1= o) Hns
OfIZ= M2 A Angaz
2,000,000 2,000
303 maZ 6,000 0 6,000
01 ZA&3 6,000 0 6,000
20f o 6,000 0 6,000
OFAR20 24 S FOME HI Al 6,000
-z 2,000,0002 * 14 S 2,000
-4 1,000,000 »2J = 2,000
- & 500,000 «40H S 2,000
307 Q20| A 11,867,586 11,717,998 149,588
05 QI2tIErZ 11,867,586 11,717,998 149,588
20 o 11,867,586 11,717,998 149,588
OMESMY D +F - 28 Yl
11,080,742,0002 11,080,742
OZ=dh 3t S Mo, MAl 2ASHIIS
X 2l 50,000
—YAHESE 2 25,000,000& 25,000
—Holg Meldl 25,000,000&! 25,000
OZBHUY £ AWX 254 736,844
— LMy 21,3498 «110E 2802 657,550
— SR 39,6478 «2,000= 79,294
308 X XHRSOIA 2,888,932 572,800 2,316,132
07 MXSHL2SS 2,112,413 572,800 1,539,613
20 2,112,413 572,800 1,539,613
OCIMZANS AN E 22
1,000,000, 0002 *20 . 5% 205,000
O+ X MSHIIS 2 £42
44,9901 «110E »280L 1,385,692
O X MIHE = (1SHH)ES ALY
=t 521,721,000€ 521,721
10 2IZSOHUSZ A ALY 776,519 0 776,519
20 o 776,519 0 776,519
OMYI| SHMESE B AlLH (S
) 776,519,000 776,519
405 XHAHFE S 0 0 0
01 RALESEFSH 0 0 0
20 &t 52,000 0 52,000
oA g 13,000, 0002 *4CH 52,000
=213 ( 0) 52,000)] ( A52,000)
oA g 0 |( 0) 52,000)] ( A52,000)




SN

Y HAS S ASEILH(2EES/HIIES)
el EFE HII2 Xl (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
H2EL XA 9,548,265 8,166,118 1,382,147
203 YR FZH| 4,800 5,000 A 200
03 AHMF=XHRFZH] 4,800 5,000 A 200
= 0ff &F 4,800 5,000 A 200
OFA & =g A Hd2FA
4,800,000& 4,800
307  glztol & 8,965,964 8,141,518 824,446
05 CIZtRAEZ 8,965,964 8,141,518 824,446
= 0l & 8,965,964 8,141,518 824,446
OJt2 & A 2U2HH I 5,383,696
—HAHHAN RIE 5,383,695,300& 5,383,696
O=2=Z &AL 2t 3,582,268
— AL |E 3,582,268,000& 3,582,268
308 AXHHMSOIH 577,501 0 577,501
10 SJI2SOICHSHA & XA B 577,501 0 577,501
= 0l & 577,501 0 577,501
OANd2ae| St /g 577,501,000& 577,501
SSstaazel 42,500 42,000 500
201 et g| 42,500 42,000 500
01 At 2eltl 42,000 42,000 0
= 0l & 42,000 42,000 0
OgstEa 2223 X3
70,0003 *500 & =12 42,000
02 23293l 500 0 500
= 0ff &F 500 0 500
Ost=st&4ags &3l 500,000& 500
HIIZ2 M2AE 2% 14,629,423 10,043,940 4,585,483
201 LBt 49H| 4,285,668 3,940,340 345,328
01 At 2eltl 4,500 5,800 A 1,300
= 0ff & 4,500 5,800 A 1,300
Al&gzte] & Il=l 1,500
— o=t 150,000 «5Y 750
— OtM gt 150,000& x5H 750
Ol &edlH FUHAY =HL=E RA2
2l bl 2,000,000& 2,000
ONZz=sdy 3 =34 F7AME
22l 1,000,000& 1,000
02 23293l 4,281,168 3,934,540 346,628




FA NE= 1

M. HAS TANSEXIL(BRHEES/HIIS)
o SFX HIIE2 M (chg:®
. s - 0f o T 0 Ao -
EH-Z3H .42 (3H) - HEMNY - BES (Z= o) (713 o) Hnsz
= 0ff &F 4,281,168 3,934,540 346,628
OX=sHYH 29 123 3,734,168
- &2 130,000,000 = 12& 1,560,000
—ZAJIARS 100,000,000 = 12& 1,200,000
— MG ER= 10,000,000& x12& 120,000
— & &+l 12,190& +5,600E x12& 819, 168
—MHols8+22 2,000,000& x12& 24,000
—ANdZE NErEREZ
11,000,000& *13] 11,000
OLZANE I3 =5 147,000, 000& 147,000
OS24 IJtA Hisd 20 25,000& *16,000 400,000
307  QI2t0l A 10,341,755 6,100,000 4,241,755
05 QIZtREZ 10,341,755 6,100,000 4,241,755
= 0ff &F 10,341,755 6,100,000 4,241,755
OXNEA=stdEH 23l 10,341,755
— A2ZAE 23| 7,487,649,000& 14 7,487,649
— MBTAIE 294 2,203,871,000& =14 2,203,871
— SASHEAIE 24|
650,235,000& x 14 650,235
405  XhaHF S 2,000 3,600 A 1,600
01 MHMLEEFHSHI 2,000 3,600 A 1,600
= 0l & 2,000 3,600 A 1,600
OFUAY FHE2E(H&E S) 7l
2,000,000 2,000
e HH| 12,540 3,200 9,340
201 et 9g9Y| 4,640 3,200 1,440
01 AtS222lyl 4,640 3,200 1,440
= 0ff &F 5,000 3,200 1,800
OMEstAFY 88 #¢
500,000& =104 &l & 5,000
=& 13 ( 4,640) | ( 5,000)] ( A 360)
OMestddY 88 #¢
464,000 x 1000 AL Ef | ( 4,640) | ( 5,000)] ( A 360)
301 et Az 7,900 0 7,900
09 EAtAHIEAZ 7,900 0 7,900
= 0ff &F 18,900 0 18,900
OMEstHAFY 0 X 244
7,000 *90H 104 M £ *33] 18,900
=& 13 ( 7,900) | ( 18,900) | ( A 11,000)




SN U=
M HAS CTASAZIN(BRBS/HIIS)
Sel: ASIE HIIS2 ™l CERE
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
OMEEHAY 20Xk S|
790,000 x 10 & Ef | ( 7,900) | ( 18,900) | ( A 11,000)
TNEHER =& H 2435 12,238,325 7,218,809 5,019,516
= 119,000
Al 12,119,325
S8X0 WHE2E 2Ctis 2435 218,080 200,680 17,400
201 LEr29y] 60,580 77,380 A 16,800
01 AbSZ2lH| 60,580 77,380 A 16,800
=0l A 60,580 77,380 A 16,800
OH XY 22/ .48 XA MEE ¢ 1,080
— OtA 3} 150,000 »2&H x2 = 600
—E2S2E(HEFLY.0IAT S)
10,0008 x2 & 2 » 122 480
OMEE AlQIoAl stas 28 E2H| 25,000
— e 222 = N 20,000,000 20,000
—HXY =) BAE R
2,500,000 23| 5,000
oMggns T2 29 34,500
—0I§s Ol s WM ME 2 2
12,000,000 12,000
—ZSEM DSIM ME L RA(XE
=amB| 12,000,000 12,000
— A=Y 150,000 *1% %303 4,500
—EX2UASY 100,000 2% %303 6,000
206 24l 145,100 123,300 21,800
01 XM=2dl 145,100 123,300 21,800
=20l At 145,100 123,300 21,800
OMeE 224+=H 28I M= 145,100
—HEEE 222HU ME
400,000 *500H 20,000
—WEEE HIe 222 M
2,500 *12,000 M 30,000
—HY® ZHY £H2 =25 22
2502 25, 0000H * 12 75,000
—HAMX $=Hs 77,0002 * 1004 7,700
—HA2S £ 260, 0002 *30H 7,800
—HEZS £ 46,0002 *100H 4,600
301 LertEAaza 2,400 0 2,400
11 JIEt2 A= 2,400 0 2,400
=20 & 2,400 0 2,400




EM: NGRS
= HZS SASEZIH(BEES/HIIZ)
©?: UHEHEE =SHA 243 (o2&
x 5 . 0 & o ol Ao -
SA B S (SH) - MEMY - BES =z T BlRE2
Ofl2Jl)IEEs 0INs ANEHN B4
50,000 128 424 2,400
303 ZAaF 10,000 0 10,000
01 Za3 10,000 0 10,000
= 0fl &F 10,000 0 10,000
O'"HAH IIMQE " EIF MY
10,000,000 10,000
Hasg 488 29 11,149,353 7,018,129 4,131,224
201 et A 261,000 96,000 165,000
02 =294l 261,000 96,000 165,000
= Off & 201,000 96,000 105,000
OMEsdEHE AlE S
15,000, 000& x12& 180,000
OLSYUAMNE 21,000
—EPR 2& FELA S X S
7,000,000 »3CH 21,000
=218 ( 261,000) 201,000) | ( 60,000)
OMgsdEd Al ||
20,000,000& 128 |( 240,000) 180,000) | ( 60,000)
307  QIztol™ 10,596,984 6,855,720 3,741,264
05 QIRAEZ 10,596,984 6,855,720 3,741,264
= 0fl & 10,596,984 6,855,720 3,741,264
OMEEE =& .28 e
7,555,000, 000& 7,555,000
OMES HEF 0122 eyl
2,321,984,000& 2,321,984
OMEEE &M= Ml & 25l
120,000 x500E +12& 720,000
308 AXNHHMSOIH 66,409 66,409 0
07 XAXESHH2AREES 66,409 66,409 0
= Ofl & 66,409 66,409 0
OMEESE Ms MHEX Bt =28
65,106 & x85=+128 66,409
401 AEHIZ=R0YI 41,000 0 41,000
01 Al&HI 41,000 0 41,000
=& 18 ( 41,000) 0)] ( 41,000)
OAEIZESHMelAE WIS LXALE &X
41,000,000& |( 41,000) 0)] ( 41,000)
405  KHaHE SHI 183,960 0 183,960
01 &MY ESSFHSHI 183,960 0 183,960




SN HREED
M UG CABAISE(BILSS/HIIS)
Sl HAHEE =M 25 (St &8
) - - 0l &k 2 U = 0 ~
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
=0l & 183,960 0 183,960
OMEESHLET HOIZH 7
170,000,000% 1 CH 170,000
OMBESHEN 2HO0IH 7Y 4,000,008 4,000
ONMzEdeEy ZILsI| 2
2,600, 000! *3CH 7,800
OMESHES 28I 7 720,0002 *3CH 2,160
MEMYD| HESE N ALY 80,892 0 80,892
201 Yete | 18,892 0 18,892
01 A2l 18,892 0 18,892
=0 & 18,892 0 18,892
OMEMYI| BHESS HLAY 2| 8,892
-39 Bu+Y 100,000 *52 *33| 1,500
— Al ZAtE 130,000 %12 %361 2+ 4,680
— 2T HASEY  100,0008 *3 <43 1,200
— IR S Al 7,000%! 54 %43 1,512
oMM B2 HHAY 2
10,000,000 10,000
303 a3 62,000 0 62,000
01 Ea3 62,000 0 62,000
=0l & 62,000 0 62,000
OMEMYI| BHESS HLAY L4S Al
o2 62,000,000% 62,000
WeEsdEE HY 790,000 0 790,000
= 119,000
Al 671,000
401 A&H LSO 790,000 0 790,000
= 119,000
Al 671,000
01 A&l 790,000 0 790,000
= 119,000
Al 671,000
=0l & 790,000 0 790,000
OMEBESHET A8 JI2 L MALY
790,000,000 790,000
z213) ( 790,000) 790,000) | ( 0)
(= 119,000) 0)| ( 119,000)
(Al 671,000) 790,000)[ ( ~119,000)




SN

= HZS SASEZIH(BEES/HIIZ)
©?: UHEHEE =SHA 243 (&)
x s . 0 & o ol Ao -
SA B S (SH) - MEMY - BES = T BlRE2
OMERHEE A Jl2 L AL
790,000,000& |( 790,000) | ( 790,000) | ( 0)
(= 119,000) | ( 0)] ( 119,000)
(Al 671,000) | ( 790,000) | ( £119,000)
HEmolE 2el 4,087,440 3,499,840 587,600
GEmoE =H ¥ HMal 4,087,440 3,499,840 587,600
201 eI 40,340 29,880 10,460
01 AtR2Zeldl 15,840 11,880 3,960
= Ofl & 15,840 11,880 3,960
OUWEHIIS e ADEZS M
10& *4,00001 *36 1 = 15,840
02 =294l 24,500 18,000 6,500
= Off & 18,000 18,000 0
OUWEHIISHM2E AR
1,500,000& 12 18,000
=& 18 ( 24,500) | ( 18,000) | ( 6,500)
OUWEHIISIIME EAX HHE S &4
Xl 6,500,000& |( 6,500) | ( 0)] ( 6,500)
307 giztold 4,047,100 3,469,960 577,140
05 QIZtRAES 4,047,100 3,469,960 577,140
= Off &t 4,047,100 3,469,960 577,140
OUEHIIS +=H, 28 HHHI
2,750,000, 000& 2,750,000
OUEHII = MME A2 FH|
970,000, 000& 970,000
OUEHIES &S ™Ml
200,000& x9E=+128 21,600
OUEHII = M= M2l ¥ 25l 305,500
— 4= HMeldl 20,000& *4,700& 94,000
— M= 254 45,0003 #4,700= 211,500
SAMNE2S HIIE =HXN22 28 L A 11,924,092 11,999, 441 AT5,349
SAEF HIIE2 =H £ Al 11,924,092 11,999, 441 AT75,349
201 et 3,464,064 38,000 3,426,064
01 AFR2Zeldl 3,399,493 15,000 3,384,493
= Ol & 3,399,493 15,000 3,384,493
OsAasMdl 2e E2H
5,000,000& x33| 15,000
OSAERHIIE(22) HMeldl
123,838& *27,330& 3,384,493
02 =529l 64,571 23,000 41,571




FA NE= 1

HM: HAHS TASEAXZLH(SHES/HIIZ)
O9: SAZE HIIS )M 28 ¥ NAs CERT
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;lﬁ% HRE2
= 0l & 64,571 23,000 41,571
OSASMYIIBHE S| RFIDES D] | A=
2l bl 56,000
—AgXY FAEs 29 10,956, 000& 10,956
—FINY FAEs 29 25,500,000& 25,500
—28& 3,200,000& 3,200
— SN2 2,818,000& 2,818
SEFL A2 13,526, 000& 13,526
OsAM=RHII=E =AY B8
840,360 *6CH 5,043
OSASFHIIS =HXE 2ol 2 Xt
S$2dEHI = 308,000 *6CH 1,848
OSAZS2HIIS =HXZ 2o OHE 2
HE o2 280,000 *6CH 1,680
206 M Z&H| 88,000 76,000 12,000
01 MZH| 88,000 76,000 12,000
= 0ff A 88,000 76,000 12,000
OsASMHI =HED| 7¢ 88,000
—2&8xH (252 ) 8,000& *5, 0004 40,000
—2&82H 11202 ) 80, 000& *600H 48,000
307 212t0l A 8,259,528 11,873,441 N3,613,913
05 QIZt?E= 8,259,528 11,873,441 N3,613,913
= 0ff & 8,259,528 11,873,441 N3,613,913
OsSAZSRHIIZ =& ,28 Udyl
8,259,528,000& 8,259,528
401 AIEHIZL20iH] 0 0 0
01 Al&HI 0 0 0
= 0l & 50,000 0 50,000
OSAZRMHII= RFIDSHE)| MIE23 2
Ab 200,000 *250CH 50,000
=413 ( 0)|( 50,000) | ( A50,000)
OSAZRHII2 RFIDS )| MEAZ22 3
A 0 |( 0)|( 50,000) | ( A50,000)
405  XHaHFE S| 112,500 0 112,500
01 XML =SSFHSH 112,500 0 112,500
= 0l & 425,000 0 425,000
OSAZFHII=S RFIDSHED| ¢ &AX
1,700,000& *250CH 425,000
=413 ( 112,500) | ( 425,000) | ( A 312,500)
OSAZRHII2 RFIDS I 2 &X
112,500, 000& |( 112,500) | ( 425,000) | ( A 312,500)

_10_




2AM: =&t

HM: HAHS TASEAXZLH(SHES/HIIZ)

CHel: MRS Helstd =4 (CHe &)
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
JHRe Helstd =4 2,507,851 2,507,851

= 480,000
Al 2,027,851
otz std EA 114,013 114,013
201 A E2 A Y| 98,513 98,513
01 Ar®2telt] 69, 343 69,343
= 0l & 66,343 66,343
OtH0IgHE Uola &2 200, 000& *6IH 2~ 1,200
OJ2HEAE 2EF2LHI 140,000& *49H 6,860
0¥ HIIE ASHel 242
250,000& 200& 50,000
OMestdHEHIEt AN2ZPEEAIMH SRS
ol =4l 8,283
— 29 40,0003 =144 560
— &3t 20,000& *14H 280
- L 23 80,000& *14H 1,120
— SrehE 2t 20,000& *14H 280
— oI A2 300 *x14H x6l x12& 303
— OFN X7 30,000& *14Y x2&H 840
-s= 350,000& *14H 4,900
=&13 ( 69,343) 66,343) | ( 3,000)
OJlz2d3AL2s8 2 ES7Hl 9,860,000& |( 9,860) 6,860) | ( 3,000)
02 =249l 29,170 29,170
= 0l & 29,170 29,170
O AN II A 2224 17,350
—&8J|12 150, 000& *6 1 A~ x 12 10,800
— AolE=E 50,000& *41 A~ %128 2,400
- A2 1,000, 000& * 104 & 1,000
— Mol AELS (&R
350,000& x9& 3,150
O=tE0Istd e8td =& S S|
1,800 *504 =40 =12& 4,320
OtH0IsHE ol X2 & 4=
ull 250,000& «50H & *6IH A 7,500
301 ot A= 14,700 14,700
09 EAAHIEAZ 14,700 14,700
= 0l & 14,700 14,700
OJZ2eE0Istd 228 A&X AS
1,200,000& x 124 14,400

_11_




SN

Y HAS S ASEILH(2EES/HIIES)
S HRst Helstd =4 (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
OJt=2&d0lst&d aieds & S WHAIE &
JtHI 300,000& «1H 300
405  RHAFHE S HI 800 800
01 X&MLY EEFHSHI 800 800
= 0l &F 800 800
OtB0Ig3UI L d24I] 2l
200,000 =4CH 800
PSENPN =T ol 1,433,838 1,433,838
201  LEt2I| 638,838 638,838
01 AFSR2t2ldl 278,658 278,658
= 0l & 278,658 278,658
OQABLHEFAX 2357 81,900
—SLEHAl 225,000& * 14« 14CH =10 31,500
—EHE4 90,0003 x4 = 14CH =10 50,400
OXSL-HAEAX HEAM Hldl
64,5863 x250= x12& 193,758
O&SXIX(HH)RZ |
250,000& «12& 3,000
02 2294l 360, 180 360, 180
= 0l & 360, 180 360, 180
OFALXE Ed= 1,200, 000& *22CH 26,400
OF3LXE S bl 15,000, 000& *22CH 330,000
OFAXY SIMNERLES 270,000 «140H 3,780
405  RHAFFESHI 795,000 795,000
01 XaL=SSFHSHI 795,000 795,000
= 0l & 795,000 795,000
OFALXE 2AbI 795,000
— CHASI(128) 265,000,000 =3CH 795,000
HAXeE2Y 960,000 960,000
= 480,000
Al 480,000
405  RHAHHESHI 960,000 960,000
= 480,000
Al 480,000
01 X&MLY ESEFHSHI 960,000 960,000
= 480,000
Al 480,000
= 0l & 960,000 960,000

_12_




2AM: =&t
HM: HAHS TASEAXZLH(SHES/HIIZ)
S HRE Helgd =4 (e &
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;ﬁ% HRE2
= 480,000
Al 480,000
OFAXE 7 960,000
— B HHAT(B.58)
231,666,600& *3CH 695,000
= 347,500
Al 347,500
— L HALR(12E) 265,000,000& = 1CH 265,000
= 132,500
Al 132,500
HHMSHAY| (XK= 1)(JIEH/IIE}) 5,347,705 5,475,240 N 127,535
ol 23| 5,269,013 1,444,813 3,824,200
oz 2A | 5,269,013 1,444,813 3,824,200
101 jelals] 5,269,013 1,444,813 3,824,200
02 JIEt2E S 427,530 0 427,530
= Ol & 427,530 0 427,530
OMEtStAAMY|BE A|ZHEHH LI H SR
ol 24 H| 381,108
—-Jlzga3 1,710,580& x14H x12& 287,378
—IESY 10,080
bl Xt 40,000& *14H =12 6,720
=Hl 5 20,000& 148 x12& 3,360
— AESH B X4 450,000 *5H *43| 9,000
— Mg EXH| 91,880 x14H x12& 15,436
— M ZAY| 130,000& *14H 122 21,840
A DJIE AbH| 5,890& *x70A| 2tx14H 5,773
— X2 2 188, 100& *14H x12& 31,601
OMEtst A MH|BE A|IZTHEHH LD H SRS
282 46,422
— =03 370,738,0002 *45/1,000 16,684
— AL E2E 370,738,000 «30.6/1,000 11,345
— Lo RUBE
11,345,000 %65.5/1,000 744
—1s88d 370,738,000 *15/1,000 5,562
—MHEE 370,738,000& x32.6/1,000 12,087
03 SIAHA2RTE L 4,841,483 1,444,813 3,396,670
= 0l & 4,841,483 1,444,813 3,396,670
O=td0lg 88% oAy 2,963,710
i ==1 1,593,014
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2N A&
HE: SNSRI (HRES D) (OIEHIIE)
el ol 2yl (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) HnsZ
SEFPEIEIECES)
2,367,870% x40 » 128 1,392,308
- EDIEENCAERED)
2,389,350% 72 « 122 200,706
-32+y 170,482
b2 & A 826101 9)
1,521,430 +49% +23] 149,101
BHIIS 8 (27101 8)
1,527, 1702 +72 x23] 21,381
- =LY 39,240
b < Xt 40,0002! ¥56% *122 26,830
=% 20,0008 *44% * 122 10,560
AU 30,0002 52 * 128 1,800
—gyaesy 140,518
b2 & A Y2610/ 9)
95,5009 *49% +2. 52+ 122 140,518
— o2y 281,035
b2 & A 826101 9)
95,5002 +49% *52 + 122 281,035
—oixtag 171,376
b2 & A 82610/ 0)
127,450 21 #492] x242) 149,882
#0|SEH27H 012
127,94021 7% #242 21,494
b ELE 301,091
b2 & A 8H(2610/9)
23,8002 +49Z *20 Al 2122 280,947
220IS 8 (27H0/8)
23,9802 +7% 104l 2t+122 20, 144
—sagesy 85,0002 *562 * 122 57,120
—fEsag 50,0008 %562 * 122 33,600
—MUESHIR R4S 420,0008 2% 43 3,360
- meEYLY 70,0002 +7 * 128 5,880
—SlMag 50,0002 56% * 122 33,600
—orA2ReY 133,394
Jt2 & A8k (260]2H)
7,960%! +28.52 «49A| 2+ 122 133,394
008 ZLE =2 B4 527,138
—ZouZ A 160,000 *562 « 122 107,520
S EES] 140,000 *562 « 122 94,080
R 110,000 #5624 « 122 73,920
— YRS 204,578
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2AM: =&t
Mz HMSAHH| (X =21)(IIEH/IIE}H)
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
- VR & 4 5261 0| 2F)
1,825,720 x49H x23] 178,921
- BHHI|seH(2740]2H)
1,832,610 *x7H *23| 25,657
— ZAXI &I 80,000& x49H x12& 47,040
Os=tdilstad 282 438,467
— =203 3,490,848,000 *45/1,000 157,089
— AL E2E 3,490,848,0009 +x30.6/1,000 106,820
—LomleYEs
106,820,000& x65.5/1,000 6,997
- 1888 3,490,848,000 «15/1,000 52,363
—MHEE 3,490,848,000& «33/1,000 115,198
Ostd0lstd m=yl 56,538
— &8 20,000& »56H 1,120
- 29 40,000& *56H 2,240
— &3 20,000& *56H 1,120
- L2253 80,000& *56H 4,480
— &g 20,000 *56H 1,120
— 2&t3t 50,000& »56H 2,800
— SEt a2 20,000 x56H 1,120
—=S9 20,000 *56H 1,120
—0tA3 2,000 *56H =4 448
— HEY 300 x56H x5 12& 1,210
— OFM X7 30,000& x56H x2H 3,360
— o5 150,000& *56H x2&H 16,800
— == 350,000& x56H 19,600
O=tZ0Istd theEMItE s X2 O Ol X+
10,000,000 x5 x3/100 1,500
OtH0ISHE M A XI&HI
60,000& »56H 3,360
O=E0ISHA OF= 3 SAL K&
30,000& *56H *23| 3,360
Otd0IstE Mal242 3,000,000& 3,000
O&Z0lsad 832 2U&bl 844,410
—E XS (H§UEH) 120,000, 000& *7H 840,000
— S22 ¥ ZCg 130,000& *74 910
—2ME 500,000& x7H 3,500
=343Hl 78,692 59,052 19,640
DR sl 78,692 59,052 19,640
201 B2 A Y| 32,172 24,612 7,560
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2N NFa =2
= HE2G AU (K2 =2 (J1EHIIE
chel: JI23l (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 At 2teltl 32,172 24,612 7,560
= 0l & 32,172 24,612 7,560
ORAM23J1=23Hl 30,240
— Y Bt=Z=H| 40,000 x28Y = 12& 13,440
— =24l 50,0002 x28H = 12& 16,800
OFAMRLZH 94| 161,000& 123 1,932
202 O dl 40,320 30,240 10,080
01 =AYl 40,320 30,240 10,080
= 0l & 40,320 30,240 10,080
OgRFLII20HY| 120,000& x28H «12& 40,320
203 YR F&Hl 4,200 4,200 0
04 2EN2IHRFAH| 4,200 4,200 0
= 0l & 4,200 4,200 0
ORI HRF=LH 350,000& x12& 4,200
405  RhAaFHE S HI 2,000 0 2,000
01 A& 2SFHSHI 2,000 0 2,000
= 0ff &F 2,000 0 2,000
OXNEAE AXN7Y 200,000& * 104 2,000
HWees (A=) (FEE2S/HII2) 2,000 25,920 A 23,920
HWEHH XS 2,000 0 2,000
ok gt 2 2,000 0 2,000
802 EtE3JlEt 2,000 0 2,000
03 Hed=s 2,000 0 2,000
= 0l &t 2,000 0 2,000
OUEHII2 iz 30 E &3
2,000,000& 2,000
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